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Candidates are required to give their answers in
their own words as far as practicable.

lllustrate the answer wherever necessary.

1.  Answer any five of the following questions:

1x5=5
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a)

b)

What do you understand by 'Most Favoured
Nation' status among members of WTO?
faifen sicgm IR AR a” ey
e & @RI?

Does the difference in technologial

knowledge among countries lead to absolute

factor price equalization under free trade?
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d)

g)

h)
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Are factors of production mobile across
trading countries in a Heckscher-Ohlin

model?

(ZIOIF-e2few og SR Sewifes ey
AR (TR S SAMCT TAW
g & Herere 2

Define Optimum Tariff.

S wF-9q <@ TG |

Write the full forms of TRIPs and TRIMs.
TRIPs 438 TRIMs 43 7|7 719 1 2

What is the biggest advantage of floating

exchange rate?
e Rl 2 g7 e AR e

Mention two major reasons behind adopting

restrictive trade policies.

T TS MO ST Z2ITH Yo 2
I TrEre 9 |

What is the major limitation of Absolute Cost
Advantage theory of trade?

Jifdtena vaw W ARG wred ey FH Fie
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Answer any ten of the following questions:

2x10=20

-G mifS 2rad Ted mie ¢

a)

b)

d)

Why was WTO formed?
WTO & Bl 341 e ?

State the Metzler's Paradox.

e Poremt Ko 4 |

Differentiate between 'autonomous' and
'accommodating' transaction in the balance of

payments accounting.

AR EEWER BANEE (R TPS G3%
Ty AR EEmER W Ay ST
Sl

What is 'J-curve' effect?
'"J-curve' 9CFF F2
State the Rybcznski Theorem.

feafemtz ool e <=1

State the basic differences between the
assumptions of Ricardo's theory and H-O

theory.

TSl O ¢ d3p-¢ ©IGT SLEN CFg
T Al e
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g)  What is 'Triffin' dilemma?
‘T TowRFs 2
h)  State the main objectives of devaluation.

SRR 6T S fge 9|

1)  State two reasons behind collapse of Bretton-

Woods System.

@B-Be 7] < 267K i e Srard 9 |
j)  What is tariff war?

NE R

k)  Distinguish between Spot Rate and Forward
Rate in the Foreign Exchange Market.

AW 7! A SICFeT [z =19 (Spot
Rate) @ ©ikare {1 23 (Forward Rate) €3
Sy AN e 4|

1)  State the basic principle of Comparative Cost
Advantage theory.

OEISET U AR - SOGF 7 Ao (b [Kge 4 |
Answer any five of the following questions:
6x5=30
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a)  Distinguish between tariff and quota. When

will their effects be identical?
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b)

g)

Esifes qfdey = @ Al g
FARFETE N ALY oA 91 Gwd T
T IF Q2

Briefly discuss the Leontief paradox.

foreafloms “ifares FREFe SEe 9|

Briefly discuss gains from trade.

At Fted Ol ATH! SN I |
Discuss the income effects of devaluation.
YU SRR SRS FoRMb SEhal 4 |

Derive and draw the national income

equilibrium condition for two large countries.

7 J28 (A G STOR SRS SRR STeie]
97 *1Sf fefa 77 ¢ fofae 791

Discuss the absolute and relative version of

Purchasing Power Parity (PPP) theorem.
Faefes Fael T=IFe 537 ¢ FqAfFs
AT ST 4 |

What is Leontief paradox? What arguments

have been put forward to resolve the paradox?
2+4

‘Terealomes oAed Fe @3 wiee e
ST - 93 Sy | Y& (o T 2R 2
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h)

Using General Equilibrium analysis show that

free trade is always better than autarky.

A6 SNy [Resge 7 JARE 8w F9 @
FITefO! - O T & Aferey 7l Te |

Answer any three of the following questions:

15%x3=45

@I Foals 2d Ted e ¢

a)

1) Compare between 'expenditure-
switching policy' and 'expenditure-
reducing policy' in the context of

devaluation of the currency. 9

A S’ ¢ ‘I AKIvT AfeF
A g 9 |

11) 'Floating exchange rates insulate the

economy against external
disturbances'— Do you agree with this

statement? Give reasons for your

answer. 6

(AT @ (R LIS 92T I
A — ol & @2 Ie]E e T2
TEEE AATF FEY @S |
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b)

d)

Establish one to one corresponding between
commodity price ratio and factor price ratio

in the absence of factor intensity reversal.

@NE (@, TAMET BAMER TP
i T TFF B I AR SRoAW
AT AR e 9 Selfre
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TE ol FA TR

Discuss how does fixed exchange rate differ
from flexible exchange rate. Explain how

Government maintains fixed exchange rate

system. 6+9
A e 27 @3 e 27 i 29 @

(I (G SETW] O] S 1 | TFHIE
4|

Briefly discuss the relation between
commodity price and factor price in
Heckscher-Ohlin model. How does free trade
lead to both relative and absolute factor price
equalization? Why is incomplete
specialization necessary for factor price
equalization? 4+7+4
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